01608 =4 == 1 A >
B ook ik B E R E E o E
B ® F % B & 5 BERER A AR G4 A H B & 5
4 Fn I %
5¢ 25 10| 31 25 |SLP2M—-104468
£ % il ES B O K o & K
& [301]DBF—SLP2M 18
FAEEDKL X IZ4H
EOE 0 &
BB EOEY | B & | ewm sznon E Kk 0 B K ® E £ B | B K B W R | B W E R N
Ay Al BY BFEH P [021] 2[ 5] 10000 750] 4 15304 2640 2555]4
BHRE I ERED w OB o 5 HEEES | BIELER | & & & B S A M EM T E|SAME#%HE
kW
L 19t 3 1) b 18218 0106 428 169 o 186y 950, ~ig - 58045
A
ESHMOmTT5R | ™
B¢ 25 bg
(AN, —EEEl &
L2 &Eﬁ%]I&Slizﬁaa FHESE 50 %EAEER
Z
TRk 2 THEERBEMES % LEMRE
FEHEEHAK (NOx - PM) #8, COBBHEOCHEHADAIIINO
x-pMﬁ%ﬂm%?fc
[EfTHEMHER-ME] 43, 900km (4fTM4E1828H)
[m%ﬁﬁ%ﬁirsz7 000km (Ffn3%E1H22H)
TRk 1 2 FER TR H E, ﬁﬁ%%%%ﬁﬂﬁ 97dB
~ 77— EBRE AR E
g
LLT& A
%ﬁ%ﬁﬁ 5# 2a 10a FE#RZRDE
1 D

1. REBEAEE, BETTCEEHAOTKECEETLTTFE W,
( FHHBRE, BEOBEHEOBICSLEICRVES, )
2. ABHEFEOBBHEZFZET LI LEE. FREIEYESAICEELTTE D,

\

ey

P
)=
o) 2

i

e\

1l

WIS

trer

= e

s

3

‘ .
N N —

o T Nk ER (Bl




